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CHEMISTRY
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PART-A (Guz-ay) [Marks : 10
Answer all c!uesti ons (50 words each).
ﬁ All questions carry equal marks,
I T M T | IIH U IR v vt & oifirs 7 6
Wi @ s |

~ PART-B (wvz-w) [Marks : 25
Selecting Ajfswcr five ques}ions (250 ?mrds each), |

clecling ore from each unit. All questions carry equal marks
THRIIW2S0 VR W w0

5 Wy 3 ot WAM |

http -//www.mlsuonline.com 4
PART-C (@5 ®  [Mark
two questions (300.Words cacy. -
ﬁfm Questions carry aqﬁﬂ';:;mﬂrks;_-'.3 e 4
IR BT TN | 33 s 9300 91 9

Answer any

1041

PART-A 10x1=10
(Euz-21)
(iv Why is BeCl, more covalent than MgClL,? .
BeCl, TR TEAieh A § MeCl, &1 T |, TH
w7

( u’f/ What do you mean by radius ratio in case of ionic
compounds? http://www.mlsuonline.com

s ATRT B T STaTd ¥ o 1 W & 2
(iii) Complete the .l‘ulluwing reaction:
(a) LiAli-l; —L 3A+B4+C
(b)Y CH,-Li+ H,O0-—>A+8
e arfuferansdt w1 gof wifs)
(31) Lialld, ——A+B+C

>A+ B

(/) CH, ~Li+ 1,0

(ivY Draw the structure of XeOF, molecule.

XcOF tuy <1 Sl 91g |

Write the one application of Teflon,

| TFEN F e ST FaEd |

e Wrilethe second pl-oductufthefo]](}wing reactions:

=1 sifuferan 1 T80 SR = 3
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TG A0 T TSN a0 TE WRe |
(a) 2KIO, ~80< o

. Unit- 11
Dl.lﬂ to which basije Property of carbon forms such ' (w -1

a large number of compounds? 4 Discuss g " q f-
. . 8 ISCUss preparation, properties, uses and structure o

FTEA 9ga TR Gifis 3 - - ) .

Z} S AT E gHRT G R CaC,. http://www.mlsuonline.com 5

g CaC, = Fyerm, e, I9Rim vd T ) e

nh:fdr@us AIC fumes in humid air. Why? T
e AICI Jyg s S, gy - . .
2 TS A1 5 o o &y o 2 /::/,/ Give a brief account of the compounds of noble gases.

{{ix? \ What is the meaning of non aqueous solvent? Give T TR % 7 AR R e e ad >

two examples. h!tp:f_.f'\w.-u-:mlsunnline.cc-m : | Unit - III

I=teita faemas w=ren §) 2 werey Sifem | _

] < S -
¢ (3%1E - [11)
(x) ) What is the conjugate base of [AI(HEO)J“IUH'? /r’;/ Write short note on: 2.5+2.5=5
. [AI(HEO)ﬁ]Ji. ST E‘r‘ﬂﬂgﬂﬁ BTTT T B0 2 ' | . (7) Ptorax bead test
PART;B 3., ' by Inctt pair 2ffect
(Gug-a) - AR
o Unit-l ! {3: .:l' l'__if-’l"!:."’;"]:'.ﬂ.;l ﬁ?ﬁm
- _I -F -1 . '-.I" “_*"1“ P s - . - .

T 5 9 it Refruid e e Sty
T e : e e nezlan ;:I'-g{:- >YOT & : - o
Explain hydpq gen bonding:

sui_table €Xamples,



104
Unit -1V
FFE - 1V)
Give an account on: 2.5+2.5=
(2) Poly morphism
(b) Oxyacids of halogen

7 31 =vEm wiEa:
(%) agm@ http://www.mlsuonline.com
() e & e

Explain with reasons why? 2.542.5=5
(a) HF is liquid whereas HCL. HBr, and HI are gases.
(b) 1F, exists whercas [Cl. does not exits.

=t =1 R TEd SAREA Ho

(%) HF T@ & <m@f% HCH, [Br,and HI €

(@) IF, = afﬁsa%w ICt, WP’T

Unit - V

1041 .
(a) HNO, is stronger acid than HNQ

(b) Cl-OH s an acid, whereas NaOH is base.
:}’5 A TR |
“(31) HNO, ™ e & HNO, werer 7w &1
@ Cl-OH 37 ¥ Wafes Na-OH & 1
2
PART-C
(@us-u)
12.  Discuss [ollowing in details: 2.5+2.542.5=7.5
(a) Limitations of valence bond Theory.
(b) Fajan's rule  hetp://www.mlsuonline.com
(¢) Vander waals Forces )
== o s HIfU
() Tarwg a-y faar= o1 HHY

13, Explaiy with reason, Why? 2.5+2.5+2.5=7.5

(a) Sodiug, metal 1s generally kept |

In kerosene oil.
() The ss of alkali
hard m
group, ne clals decrases down the



14.

15.

. 1041
(¢) Helium and Neon dg 0t form ¢ gmpﬂuﬂds like
Xenon.

=1 it T W A it
(%) T : TTEa W 3 3 et & T T4 €
(A g S g A o E

(W) fecft (He) T T (Ne) s 41 o) € 1l
(Xe) ST AT a0 %)

Write an explanatory notes on: 2.542.5+2.5=7.5
(a) Structure of diborane

(b) Fullerene

(¢) Fertilizers

ﬁﬂﬁ@@ﬁﬁﬁﬂ“ﬁm‘_;
(31) B ARA ST TEA

= i

1041 | o rentiating effect
16. (a) Explain levelling effect and differentiating 3.5
| of solvent by giving suitable examples. .
(b) Discuss Lux-flood theory of acid bast, 4 4
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